Maths Grade 6

LENGTH AND PERIMETER

1. The perimeter of a rectangle is the same as the perimeter of a square. If the length of a
square is 25cm and the width of the rectangle is 10cm.

Find the length of the rectangle.

25cm

10cm

2. Asquare of side 11 cm has the same perimeter as a rectangle. The length of the

rectangle is 14cm. What is the width of the rectangle?

1lcm 14cm

3. The perimeter of a rectangle is 216 cm. Its length is 5 times its width.

What is the length of the rectangle?



